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a) Recite the holy Quran b) Singing the national anthem
c) Pay toll d) Wearing special clothes.




43- A: How did they go to Europe?
B: They made a

a) Nature Day b) voyage c) baggage reclaim  d) ceremony

44- A: You have English class at Shahed school today.

B: I,m not sure. Let me
a) book it online b) do your work
c) study lessons d) check the timetable

45- A: I always help her
- T A: In cooking food.

a) In what day b) what c) which d) who

TSl 25 Jlgw gove fwl Mlghed 43S plas -€7
A: Where is the French restaurant?
=
a) Oh, it,s near here. b) Look , it,s over there.
C) sure d) It,s just round the corner.
S Ay S elaS iy ol dr |) (5 o5 S Cawlid )3 L) (oSN 3,8 G 5l s (0 os £V
P

a) could you write it for me? b) could you give it to me?
c) can you help me, please? d) can you say that again?

B: He received an email.

a) What do you do? B) What did he received?
c) What does he do? d) What did he receive?

49- A: Are they in their room, sir?
B: No, they ... .last night.

a) filled out b) packed for c) checked out d) checked in

50- A: Did you attend a film festival
B:No, I . .a famous man.

a) installed b) texted c) interviewed d) helped
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